
72

53

52

51

60

80 79 78 77 76

75

74

73

71

70

69

68

67
66

65

64

6362

61

59 58
57

56

55

54

5049

48

47 46 45 44 43

42

41 40

39

38

37

36

35

34

33

32

31

30

29

28

27

26

25

24

23

22

21 20

19

181716

15

14

13

12

11

10

9

8

7

6

5

4

3

2

1

22

SCER810 ELECTRONIC ROUTER



SCER810 ELECTRONIC ROUTER Inventor  
NO Component NO Component NO Component NO Component 

1 ST4×16 Screw 21 Switch 41 Position control 61 ST4×16 Screw 

2 Back cap 22 M4×12 Screw 42 M4×8 Screw 62 Left handle cover 

3 M4×90 Screw 23 Right lever cover 43 Backing angle 63 Block the left 

handle 

4 Housing 24 Steel retainer 44 Backing 64 M8 Octagonal 

screw 

5 Brush cover 25 Reducing gear box 45 Φ5 Flat pad 65 Locking knob 

6 Brush 26 Dust cover 46 Φ5 Gasket 66 M4×10 Screw 

7 Brush cap 27 Short Position control 47 M5×10 Screw 67 Torsion spring 

8 Draw spring 28 Spring 48 Tube 1 68 Steel Sleeve 

9 Stator 29 Iron 49 Tube 2 69 6003 Bearing 

10 ST4 × 60 （ 50 ） 

Screw 

30 Button 50 Spring 70 Bearing gland 

11 Wind loop 31 M4×18 Screw 51 Φ6 Ball 71 M4×8 Screw 

12 Armature 32 Spring 52 Depth localizer 72 Long reset spring 

13 Plug 33 Plum screw 53 M6 Word screw 73 608 Bearing 

14 Spring 34 Spring 54 Locking nut 74 Scale bar 

15 Cable jacket 35 M6 × 16 Hexagon 

screw 

55 Chuck 75 Screw 

16 Cable clip 36 Base 56 Head capsule 76 Spring 

17 ST4×14 Screw 37 Knife Care cover 57 Long positioning 

control 

77 Scale knob 1 

18 ST4×16 Screw 38 Bottom-base 58 Spring 78 Scale knob 2 

19 Right lever cover 39 M4×8 Screw 59 Plum screw 79 Spanner 

20 Capacitance 40 M5×18 Screw 60 Governor 80 Draw a circle 

device 


	SCER810电木铣-Model.pdf
	Model

	SCER810电木铣爆炸图清单.pdf

